Name:  ____________________________

Date:  _____________________________

Class:         1 / 2          3 / 4          5 / 6____

Homework 6th Grade Wednesday Week 2

1.  13.948 + 1.24

2.  60 – 1.58 = 
3.   15








    x 16

4.   12



5.  6

  x    8

6.    2 



7.    6   



    + 3 
  
  

    -  4



8. Solve the fraction model.



9.  Solve the fraction model.
 
If 1 whole, what does  represent?
10.  What is the greatest common factor of  28 and 12?

Answers

1. ______________________

2. ______________________

3. ______________________

4. ______________________

5. ______________________

6. ______________________

7. ______________________

8. ______________________

9. ______________________

10. _____________________  

